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Prove or disprove:

1. The number of iterations that the men proposing deferred acceptance algorithm takes on an
instance of the stable marriage problem is independent of how/which unmatched man we
pick in an iteration.

2. The output of the men-proposing deferred acceptance algorithm is woman-pessimal. That is,
there does not exist any other stable matching where a woman is matched with a man whom
she prefers less than her partner in the output of the men-proposing deferred acceptance
algorithm.
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